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Alexandrium: 410
D. fortii: O
D. acuminata: 70
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SALE®E

Alexandrium: 10
D. fortii: O
D. acuminata: O

Alexandrium: O
D. fortii: O
D. acuminata: 0

. Alexandrium: -
D. fortii: -
D. acuminata: -
Alexandrium: O
D. fortii: O
D. acuminata: 0 >
@ Alexandrium: -
Alexandrium: 0 D. fortii: -
D. fortii: O ¥ 38 D. acuminata: -
D. acuminata: 0
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é . Alexandrium: -
@ @ D. fortii: -

Alexandrium: 10

D. fortii: O

D. acuminata: O

D. acuminata: -

Alexandrium: O
D. fortii: O
D. acuminata: O
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HEE | KE B9 Alexandrium Dinophysis e

D. fortii D. acuminata Z DD Dinophysis
Ok 8.15| 3347 410 0 70 0
QfAH 858 | 33.81 10 0 0 0
A= ViR 722 |  33.69 0 0 0 0
@& FiE 8.76 | 33.33 10 0 0 0
OXE#EE| 811 3364 0 0 0 0
©FIR 837 3366 0 0 0 0
DES 912| 3373 0 0 0 0
@R |- - - - - -
QFEE |- - - - - -
(KR - - - - - -
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HER Alexandrium ($ERE%L/L)

i OEET |QfAE |Q-ViR |@EHIE |Oxesrs OFR (DEE |@EE (OFE |[OXR
9A1H 20 140 10 0 100 30 10 0 0
9H8H 180 60 10 0 80 0 10 = =
9A816H 190 20 20 0 10 0 40 - -
9822H 130 10 0 10 80 10 30 - -
9H30H 50 220 10 0 60 50 40 - -

10A5~8H 10 20 10 0 20 0 30 0 0
10H15H 0 0 0 0 0 10 0 - -
10H20H 20 20 0 10 10 0 0 - -
10H27H 10 50 10 0 10 10 0 = -

1183~4H 0 20 0 10 10 0 0 0 0
118108 20 30 0 0 10 0 0 - -
11H17H 50 0 10 0 0 10 0 - -
11H25H 40 10 0 0 0 0 0 = -

11HA30H~12H2H - - - - = = = 0 0
1288H 0 0 0 0 0 0 0 - =
12H16H 0 10 - - 0 0 = = -
12H22H 10 0 0 0 0 0 0 - -

1H5~6H 130 0 0 0 0 0 0 0 0 0
1H13H 410 10 0 10 0 0 0 — —

FER D. fortii (#ARIHL/L)

OsE (QOfHFE [Q=-ViR |@EHIE Gxesr O8E OEE (@FE (OFRE |[(OXR
9H1H 0 0 0 0 0 0 0 0 0
9H8H 10 0 0 0 0 0 0 = =
9816H 0 0 0 10 0 10 0 - =
9H22H 10 10 0 0 0 0 10 = -
9830H 0 0 0 0 0 0 0 = -

10A5~8H 0 20 10 0 0 0 0 0 0
10A15H 0 10 0 0 10 0 0 - -
10H20H 0 0 10 0 0 0 0 - -
10A27H 0 0 0 0 0 0 0 - -

1183~4H 0 0 0 0 0 0 0 0 0
11H10H 10 0 0 0 0 0 0 = =
11A17H 10 0 0 0 0 0 0 = =
11 H25H 0 0 0 0 0 0 0 = =

11H30H~12A2H - - - - = = = 0 0
12H8H 10 0 0 0 0 0 0 = -
12A816H 0 0 - - 0 0 - = -
12822H 0 0 0 0 0 0 0 - -

1H5~6H 0 0 0 0 0 0 0 0 0 0
1H13H 0 0 0 0 0 0 0 — —

— D. acuminata ($RR%L/L)

OsE (QOfHFE [Q-ViR |@&HIE Oxesr (OFE OEE |(@FE (ORE |[(OXR
9H1H 350 0 0 0 0 0 0 0 0
9H8H 260 120 0 10 30 0 10 = -
9816H 350 0 0 0 10 0 20 - =
9822H 100 90 0 0 0 0 0 - =
9830H 150 120 0 0 30 0 20 = =

10A5~8H 140 30 20 0 20 0 30 0 0
10A15H 20 10 0 10 0 0 0 - -
10H20H 40 30 10 0 0 0 20 - -
10A27H 30 10 0 0 10 0 0 - -

1183~4H 60 0 0 0 0 0 0 0 0
11H10H 30 0 0 0 0 0 0 = =
11H17H 10 0 0 0 0 0 0 = -
11 H25H 70 0 0 0 0 0 0 = =

11H30H~12H2H = = = - = = = 0 10
12H8H 30 30 0 10 0 0 0 = -
12H16H 20 0 - = 0 0 - - -
12H22H 20 0 0 0 0 0 0 = =

1H5~6H 20 0 0 0 0 0 0 0 0 0

1H13H 70 0 0 0 0 0 0 — —




